
solve the following equations

ut + 5ux = 0 u(x, 0) = ex

ut + 2ux = 0 u(x, 0) = sin(3x)

ut + t2ux = t u(x, 0) = x

ut + t2ux = u u(x, 0) = x2 + 1

ut + (x2 + 1)ux = 0 u(x, 0) = x

ut +
t

x
ux = 0 u(x, 0) = x− 2

ut − 3tux = 2 u(x, 0) = 4x3

ut + (2t− 1)ux = 3u u(x, 0) = cos(x)

ut + (t+ 3)ux = u+ 2 u(x, 0) = x+ 1

ut + xux = t u(x, 0) = x− 1

ut + (2x− 1)ux = 3t− 1 u(x, 0) = x2

ux + 3uy = u u(x, y) = 2x− y on the line x+ y = 1

ux + yuy = 3u u(x, y) = x+ 4y on the line x+ 2y = 1

ux + xuy = y u(x, y) = 6x− y on the line 2x− y = 2

3ux + uy = x u(x, y) = 2x+ 3y on the line x+ 2y = 1

2ux + 3uy = x u(x, y) = 3x+ y on the line x− 5y = 1

ut + uux = 0 u(x, 0) = 4 se x < 1 u(x, 0) = 1 se x > 1

ut + uux = 0 u(x, 0) = 6 se x < 0 u(x, 0) = 0 se x > 0

ut + u2ux = 0 u(x, 0) = 3 se x < 2 u(x, 0) = 1 se x > 2

ut + u2ux = 0 u(x, 0) = 2 se x < 1 u(x, 0) = 0 se x > 1
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